1. The reaction betwe’en an ester and excess of Grignard reagent shall finally result in a:
a. Primary alcohol
b. Secondary alcohol
¢. Tertiary alcohol
d. Ketone
Answer:c

2. The structural formula of alcohol that on dehydration would give 2-methylpropene as the major

product is
a. CH3CH2CH2CH20H
b. (CH3);CH-CH,OH
c.  CH3-CHOH-CH,CH;
d. CH3CHOHCH;
Answer: b

3. 2-methyl propene upon hydroboration-oxidation gives
a. 2-methyl-1-propanol
b. 2-methyl-1-propanal
c. 2-propanol
d. 1-propanol

Answer: a

4. In Lucas test of alcohols, the appearance of turbidity is due to formation of :
Aldehydes

=

b. Ketones
c. Acid chlorides
d. Alkyl chlorides

Answer: d

5. Which of the following :
. R-CO-CO-R
1. R-CO-CHOH-R
1. R-CHOH-CH,-CHOH-R -
V. R-CHOH-CHOH-R

Will be oxidized by HIO;?

a. I, lland il
b. I, llland IV




c. lL,lland IV
d. ILllland IV

Answer: ¢

6. The end product of the following sequence is:

RCN{uh: H¥jwauler LidlH4 ferher
CHsBr > (A) » (B) = (C)

CH3CHO
CH3CH,0OH
CH3COCH3
CHa

- S o I -

Answer: b

7. When isopropylalcohol vapours are passed over heated copper it gives:

a. Acetone

b. Ethylalcohol

c. Methyl alcohol

d. Acetaldehyde
Answer: a

8. Identify the starting material in the following reaction:

CsHeO rorasstum dfm?mui = CsHe oNaOI.‘ﬁadins =CHI5
sulphuric acid :

a. 1-propanol
b. 2-propanol
c. Methoxy ethane
d. Propanal

Answer: b

9. Product Cin the reaction,
NatH{agqueous Nafsther CH3]

C,HsBr A »B——= C will be
a. CH3CH,CH;
b. CHs3CHal
c. CHsCHs;
d. CH3OCH,CH3;

Answer: d

10. What is Z in the following sequence of reactions?

PCIE NaGHiglc dilute H25C4 beii
" 8,4 > Y VA

a. CH3CH.CH,OH




b.
c.
d.

Answer: b

CH3CHOH CH3
(CH3CH3) CHOH.
CH3CH=CH,

11. Phenol and benzoic acid is distinguished by:

a.
b
c
d

Answer: b

NaOH
NaHCO;
Na,COs;
H,SO,4

12. The order of melting point of ortho, para ,meta-nitrophenol is:

a.
b
c.
d

Answer: b

o>m>p
p>m>o0
m>p>o0
p>o>m

13. Which is obtained on treating phenol with dilute nitric acid

a.
b.
C.
d

Answer: ¢

m-nitrophenol
o-nitrophenol
2,4,6—triniti’ophenol
None of these

14. Reaction of phenol with chloroform and sodium hydroxide to give o-hydroxy benzaldehyde
involves the formation of :

a.
b.
c
d

Answer: a

Dichloro carbene
Trichloro carbene
Chlorine atoms
Chlorine molecules

15. Phenol can be prepared by the reaction between:

- A

b
o
d

Aniline and HNO3z at 373 K

Ce¢HsMgBr and CO; followed by hydrolysis

CeHsCl and NaOH at 373K

C¢HsSO3Na and NaOH at 573-623 K followed by acidification



Answer: d

16. A tertiary alcohol H upon acid catalysed dehydration gives a product I. Ozonolysis of | leads to
compounds J and K. Compound J upon reaction with KOH gives benzyl alcohol and a compound L,
wheras K on reaction with KOH gives only M.

CHs Ph

The structures of compounds J, K and L respectively, are
a. PhCOCH3, PhCH,COCHsand PhCH,COOK*
b. PhCHO, PhCH,CHO and PhCOOK*
¢. PhCOCH3, PhCH,CHO and CH3COOK*
d. PhCHO, PhCOCH3;and PhCOOK*
» Answer:d
17. The correct order of acidic strength of the following compounds:
I. Phenol Il. p-Cresol 11l. m-Nitrophenol 4 IV. p-Nitrophenol is:
a. lV>I>1 >l
b.li>IV>1>1ll
c.I>l>IV>I
d.>l>1>1v

Answer: a
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The above transformation proceeds through
a. electrophilic addition

b. electrophilic substitution

c. activated nucleophilic substitution

d. benzyne intermediate

Answer: b

: =]
CHCH + OH" == HLO <+ :CCh,
1 > i

By = OF+ 0
HH
OH 0 o
cc
O g= i — o
v v Vi v
o O om@ OH o
¢n om ~H cHO OH he
B e cl
il il IX X

Zndust methy chloridsonbydrous AIC'3  alt EMn04
19. Phenol > X > Y 74

The product Z is

a. benzaldehyde



b. benzoic acid

c. Salicylic acid

d. toluene

Answer: ¢

20. The best reagent to convert pent-3-en-2-ol into pent-3-en-2-one is:
a. alkaline KMnO,

b. acidified dichromate

c. chromic anhydride in glacial acetic acid

d. pyridium chlorochromate

Answer: d

21. Among the following compounds which can be dehrated very easily is:

OH
H3C/\f/\CH3
CHj

OH

£ i Nty

< ch/\/\OH

CHs

H3C\/K/\OH

Answer: a

d.

22. Two aromatic compounds having formula C;HsO which can be distinguished by FeCl; solution test
are:

a. o-cresol and benzyl aicohol
b. m-cresol and p-cresol
c. o-cresol and p-cresol

d. methylphenyl ether and benzyl alcohol



Answer: a

23. Which are the major compounds formed when (CH3)sCOCH; reacts with Hl at 373 K?
a. (CH3)3COH and CHal

b. (CH3)sC | and CH30H

c. (CH3)sCOH and CH3OH

d. No reaction takes place

Answer: b

24. Ether is functional isomer of

a. Aldehydes

b. Ketones

c. Alcohols

d. Esters

Answer: c

25. What is the product formed when ethyl bromide is heated with dry silver oxide?
a. ethanol

b. acetone

c. ethanal

d. diethyl ether

Answer:d

26. What is the end product formed in the following reaction?

<O> MgBr + Hzc\c/:ﬁz I stk
a. Phenol

b. Ethyl benzene

¢. 2-phenyl ethanol



d. Benzaldehyde

27. The reaction
a. HCHO

b. HCOOH

c. CH3OH

d. C;HsOH

28. The IUPAC name of the compound is:

CH
HO CH

3

3
a. 1,1- Dimethyl-3-hydroxy cyclohexane
" b. 3,3-Dimethyl-1-cyclohexanol
c. 2,3-Dimethyl-1-hydroxy cyclohexane
d. 1,1-Dimetyl-3-cyclohexanol
29. Formaldehyde on reaction with Grignard reagent gives :
a. Primary alcohol
b. Secondary alcohol

c. Tertiary alcohol
d. Both (A) and (B)

30. Nitration of anisole gives majorly:
a. Nitroanisole

b. para-Nitroanisole

c¢. ortho-Nitroanisole

d. meta-Nitroanisole

31. To prepare tert-butyl ethyl ether, the reagents required are:

CH,

|
CHBEOCQHS
H3

a. Sodium ethoxide and tert-butyl bromide

b. Sodium tert butoxide and ethyl bromide

c. Dimethyl ketone, ethylbromide and sodium
d. Sodium propoxide and propyl bromide



32. The reaction,
CsHsONa +CO; + H,0 = CgHsOH +NaHCO3
Suggests that:
a. Phenolis a stronger acid than carbonic acid
b. Carbonic acid is a stronger acid than phenol
c. Water is a stronger acid than phenol
d. None of the above

Answer: b

33. Acid catalysed hydration of alkenes except ethene leads to the formation of
a. mixture of secondary and tertiary alcohols
b. mixture of primary and secondary alcohols
c. secondary or tertiary alcohol
d. primary alcohol

34. An ether is more volatile than an alcohol having the same molecular formula. This is due to
a dipolar character of ethers »
b alcohols having resonance structures
¢ inter-molecular hydrogen bonding in ethers
d inter-molecular hydrogen bonding in alcohols

35. An organic compound A containing C, H and O has a pleasant odour with boiling point of
78°C. On boiling A with concentrated H2SOy, a colourless gas is produced gas is produced
which decolourises bromine water and alkaline KMnOy. The organic liquid A is

a C2H5COOCH3
b C,HsOH

C C2H5C1

d CzH(,

36. Catalytic dehydrogenation of a primary alcohol gives a
a ketone

b aldehyde >
¢ secondary alcohol
d ester

37. Chloro ethane reacts with X to form diethyl ether. What is X
a NaOH

b H,SO,



C C2H50Na
d Na28203

38. From amongst the following alcohols the one that would react fastest with conc. HCI
and anhydrous ZnCl, is

a 2-Methylpropan-2-ol
b 2-Butanol

¢ 1-Butanol

d 2-Methylpropanol

39. In the following sequence of reactions,
g
Y B HCHC- ,c 10

iE
CHz:CH20H Arher

the compound ‘D’ is

a butanal

b n-butyl alcohol
¢ n-propyl alcohol
d propanal

40. Which of the following is Lucas reagent?
ZnCl,/con HC1 -
Br,/CCl,4 »

Ammoniacal silver nitrate

Cold Alkaline KMnOy4

o o6 o W



